Flair

furnishings

MODEL : CF 9379-B (5")

ASSEMBLY INSTRUCTION

PART LIST

HARDWARE LIST

% Headboard|

1 pc

@m

Step 1

Step 2

(LABEL 3)

JCBB M8 X 20
\ 1 pe 2 ©
Footboard JCBEMEX 30
% 2pes | 3 @mm
Side Rail JCBC M6 X 40
y tpe [ 4 e
Center Rail JCBEMOX 50
Support Leg 5
265mm | 2P
Side Rail Leg| 4 pes 6
70 x 70 x 50(H) M6 Flat Washer
' tpe [ 7 \
14 Pes Slat] M4 x 100mm
1537mm
8 ~
K Ipe M5 x 70mm
[Drawer Front Panel (L
K 1 e 9 @ CSK M4 x 16mm
IDrawer Front Panel (R)
% 10 M CSK M4 x 2
(LABEL 2) 2 pes
Drawer Back Panel
O 2pes 11 M CSK M4 x 32
(LABEL 3)| ”
Drawer Bottom Pancl]
&r 5) c 12 CSK M4 x 50mm
Drawer wcro:._ _um:o“ 4pes m
4pes | 13 /
JCBC W M6 x 40
1 pe 14 oo
Mini Fix Bolt
s | @ fa
" 1 pc
! Mini Fix Housing
: e
AN Ipe 16 4 pes
) Mini Fix Cap
%ﬁ»wm—. w| 1pe | 17 h o) 2pes
Drawer Frame| White Nail Leg
Middle Panel
18 = 26 pes
Power Nail %
19 10 pes

2 pes

21

2 pes

(LABEL 9)







¢1 dag

91 dayg

2dO 1791

DMEBIP O U

uI-y[1ng syt [[13 300

BN "S9[ [T OPIS SY} UO SWBI] IOMBIP oY Ind 79T

's10USe A\ B[] Pue DGD[ oyp Sursn £q S[Iex 9IS oY) 0} SWLI] JIOMEBIP oY) YOBPY €9
jurod Surddoys

*pUS [TB1 3PIS d} 0} UTI[E OPIS ISMEIP Y} IS

p1 doig







